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Roll No. ....................................

MAEC-10 (M.A. Economics)

Second Year, Examination-2015

MAEC-07

Labor Economics

(Je vFkZ'kkL=k)
Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained in
these sections according to the detailed instructions given
therein.

uksV % ;g iz'u&i=k lkB (60) vadksa dk gS tks rhu (03) [kaMksa d] [k
rFkk x esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa
ds vuqlkj gh iz'uksa dks gy djuk gSA

Section - A @ [k.M&d

(Long Answer Type Questions)@(nh?kZ mÙkjksa okys iz'u)

Note : Section 'A' contains four (04) long-answer-type questions
of fifteen (15) marks each. Learners are required to
answer any two (02) questions only.

(2×15=30)

uksV % [k.M ̂ d* esa pkj (04) nh?kZ mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, iUæg vad fu/kZfjr gSa A f'k{kkfFkZ;ksa dks buesa ls
dsoy nks iz'uksa ds mÙkj nsus gSa A
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1. What is labour economics ? Certically evaluate it.

Je vFkZ'kkL=k D;k gS\ vkykspukRed ewY;kadu dhft,A

2. What are the reasons for the difference in wages of female

labours ? Suggest the remedies.

efgykvksa dh etnwjh esa varj ds D;k dkj.k gS\ lek/ku ds fy,

lq>ko nhft,A

3. Comment on educated unemployment.

f'kf{kr csjkstxkjh ij fVIi.kh dhft,A

4. Explain the objectives of the Labour Unions.

etnwj la?kksa ds mn~ns';ksa dk o.kZu dhft,A

Section - B @ [k.M&[k

(Short Answer Type Questions) (y?kq mÙkjksa okys iz'u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [k.M ̂ [k* esa vkB (08) y?kq mÙkjksa okys iz'u fn;s x, gSa] izR;sd

iz'u ds fy, ik¡p (05) vad fu/kZfjr gaS A f'k{kkfFkZ;ksa dks buesa

ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSa A

1. Poverty

xjhch

2. Social Security

lkekftd lqj{kk
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3. Child Labour

cky Je

4. Labour Indifference Curve

etnwj vf/eku oozQ

5. International labour Organization

varjkZ"Vªh; etnwj la?k

6. Labour Courts

etnwj U;k;ky;

7. Rural Unemployment

xzkeh.k csjkstxkjh

8. Demand of Labour

Je dh ekax

Section - C @ [k.M&x

(Objective Type Questions) @ (oLrqfu"B iz'u)

Note : Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10×1=10)

uksV % [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x, gSa] izR;sd iz'u

ds fy, ,d (01) vad fu/kZfjr gS A bl [k.M ds lHkh iz'u

vfuok;Z gSa A
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1. According to Philips curve on natural rate of unemploymnet,
inflation :

(a) Increases

(b) Decreases

(c) Stabilize

(d) None of these

fiQfyIl oozQ ds vuqlkj csjkstxkjh dh izkd`frd nj ij eqnzk

LiQhfr&

(v) c<+rh gS

(c) de gks tkrh gS

(l) fLFkj jgrh gS

(n) buesa ls dksbZ ugha

2. Given the money wages, if the price level in an econ omy
increases, then the real wages will :

(a) Increase

(b) Decrease

(c) Remain constant

(d) Become flexible

nh gqbZ eqnzk etnwjh esa vxj vFkZO;oLFkk esa ewY; esa o`f¼ gksrh gS

rks okLrfod etnwjh &

(v) c<+sxh

(c) ?kVsxh

(l) fLFkj jgsxh

(n) ypdnkj gksxh
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3. Where is the Head-Quarter of International Labour
Organization located?

(a) In Geneva

(b) Newyork

(c) In Sweden

(d) None of the above

varjkZ"Vªh; etnwj la?k dk eq[;ky; dgk¡ fLFkr gS\

(v) tsusok essa

(c) U;w;ksdZ esa

(l) LohMu esa

(n) buesa ls dgha ugha

4. Development is a process

(a) Continued

(b) Discontinued

(c) National

(d) None

fodkl ,d izfozQ;k gksrh gS &

(v) lrr

(c) vlrr

(l) jk"Vªh;

(n) dksbZ ugha
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5. Long Term period is

(a) Less than a year

(b) Less than 2 year

(c) 5 to 10 years

(d) 15 to 20 years

nh?kZdky gksrk gS %

(v) ,d o"kZ ls de

(c) 2 o"kZ ls de

(l) 5 ls 10 o"kZ

(n) 15 ls 20 o"kZ

6. Agriculture dominant countries are :

(a) Developed

(b) Developing

(c) Both

(d) None

d`f"k iz/ku ns'k gksrs gS%

(v) fodflr

(c) fodkl'khy

(l) nksuksa

(n) dksbZ ugha

7. Automation word first used by :

(a) Alfred Marshal

(b) D. S. warder
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(c) Both

(d) None

^^LoPkkfyrk** 'kCn dk izFke ckj mi;ksx fd;k %

(v) ,YizsQM ek'kZy

(c) Mh- ,l- okMZj

(l) nksuksa

(n) buesa ls fdlh ds }kjk

8. Who gave Wage Fund Theory ?

(a) J.S. Mill

(b) Walker

(c) Hicks

(d) None

etnwjh dks"k fl¼kar fdlus fn;k \

(v) ts- ,l- fey

(c) okdj

(l) fgDl

(n) fdlh us ugha

9. Employee State Insurance law was passed in :

(a) 1948

(b) 1950

(c) 1951

(d) None
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deZpkjh jkT; chek dkuwu ikfjr gqvk %

(v) 1948 esa

(c) 1950 esa

(l) 1951 esa

(n) buesa ls fdlh o"kZ esa

10. Jawahar Rojgar Yojna came into force :

(a) 1989

(b) 1950

(c) 2001

(d) 2004

tokgj jkstxkj ;kstuk dk dk;kZUo;u gqvk %

(v) 1989 esa

(c) 1992 esa

(l) 2001 esa

(n) 2004 esa


